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Divide these numbers using jottings like this.

Gold
I R2:4=] [Jx4=92 Q2s:+4=]
nie Page 88
Elxtsl] . 92 +4 =23
e 2. 69 +3=23
3. 84 +4=2|
S E 6 %6+4=[] 4. 8l:3=27
3 84+4=] D 78 +3 =] ] 5- 87+3=2q
6. 96+ 4=24
& 8l:+3=[] 8 88+4=] 7. 78 +3 =26
5 87+3=[] . B B4 +3=[] 8’ 88+4=22
q. 84 +3=28
Solve these problems. 10. £24
I. 3lcm

10 Mr Carlos shared £72 between his three
children. How much did each child get?

Il Kim had a piece of ribbon 93cm long. She cut it into
three equal lengths. How long was each length?




